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QUESTION 1

Which of the following statements is true regarding the Route Distinguisher? (Choose three)
A. It is an 8 byte value containing 3 fields

B. The Route Distinguisher must have the same value as the Route Target.

C. The Administrator field contains either an AS number or an IP number

D. To ensure uniqueness, Route Distinguishers are assigned by the IANA.

E. The Route Distinguisher is not used if the customer addresses do not overlap

F. The Assigned Number field must contain a public IP address

Correct Answer: ABC

QUESTION 2

A VPLS spoke SDP is terminated on a VPRN service. The remote side of the spoke SDP is operationally "Down" with a
flag of "Service MTU Mismatch". Which command can you use on an Alcatel-Lucent 7750 SR to show the signaled
operational VC-MTU?

A. show service id base

B. show router |dp bindings

C. show service id sdp detail

D. show service id vc-mtu

Correct Answer: B

QUESTION 3

Click the exhibit.
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The headquarter sites of VPRN 10 and VPRN 20 are part of an extranet VPRN. Which route targets should be exported
under the VPRN 20 service on router R1?

A. Target:65100:2 and target:65100:3
B. Target:65100:1 and target:65100:2
C. Target:65100:1 and target:65100:3
D. Target:65100:1, target:65100:2 and target:65100:3

Correct Answer: A

QUESTION 4

Click the exhibit.
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VPN A VPN A

Routers RR1 and RR2 are configured as route reflectors. For the inter-AS model C VPRN, which of the following about
the BGP sessions established between the routers is TRUE?

A. ASBR2 has a total of three BGP sessions established: one with PE2, one with RR2, and one with ASBR1.
B. RR1 has a total of three BGP sessions established: one with PE1, one with RR2, and one with ASBR1.
C. PE2 has a total of two BGP sessions established: one with RR2 and one with ASBR2.

D. PE1 has a total of two BGP sessions established: one with RR1 and one with PE2.

Correct Answer: B

QUESTION 5

When using the AS-override method to prevent BGP loops in VPRNSs, where should the "as-override" CLI command be
configured?

A. On the PE facing the CE neighbor
B. On the CE facing the PE neighbor
C. On the P facing the PE neighbor

D. On the PE facing the PE neighbor

Correct Answer: A
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